
0,0 Sek124567 3

6.Scheibe

1000 g

700 g

500 g

falsch

richtig

Reaktion
Beschleunigung

Abbremsen

stehen-auslösen

Handlungs-Zeit-Schema Schnellfeuerpistole

cpk`12

Druckverlauf

Visierlinie

88 88 8

stehen-auslösenstehen-auslösen stehen-auslösen stehen-auslösen

Je nach Abzug bis 0 g

G
e
s
c
h
w
i
n
d
i
k
e
i
t

Zeitstrahl

Geschwindigkeits/Zeitverlauf

Anschuss
- 8 Sek.
- 6 Sek.
- 4 Sek.

1.Sch
2,5
1,9
1,4

Reak
0,2
0,2
0,2

Beschl.
0,45
0,4
0,4

Verz.
1,1
0,8
0,5

Ausl.
0,75
0,5
0,3

Intervall
1,4
1,1
0,7

Intervall
1,2
0,85
0,6

Intervall
1,2
0,85
0,6

Intervall
1,4
1,0
0,6

5.Sch
7,7
5,7
3,9

8

3,9
3,0
2,1

5,1
3,85
2,7

6,3
4,7
3,3
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